Name: Primary 5-a-day Bronze

29th June

100 — 21 3X12=4X

Ted scores 75 points
Claire scores 48 points

How many more points does Ted score

than Claire? A: E1
l Bs D'l G

Distance walked to school Who walks the shortest distance to
600 school?
500
number 400 |
of |
metres 300 |— ] ] T —
200— +—
[ 1 ] 1 | Which two children walk the same
nm— — - - = =
0 0 1 LI 1 | |distance to school?

Noah Zoe Mason Archie Ava
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Name: Primary 5-a-day Bronze
30th June
40 + 100 + 30 72 X 3

Some children share 32 cherries.
Each child gets 4 cherries.

How many children are there?

Write these numbers in order, from
smallest to largest

801 | 810 I ‘800] [804 |

]

I

smallest

largest

Katy has four coins.
She has £5 in total.

What coins could she have?
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Name: Primary 5-a-day Bronze

1st July

5|7 0

w O
Sow

How many days are there in July?

Write in the missing numbers

NSNS

W 1% 0100

Chloe weighs 28kg 30 40 50
David weighs 26kg more than Chloe 20 o0
Draw an arrow on the scale to show how | kilograms

much David weighs
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Name: Primary 5-a-day Bronze
2nd July
34 = 2 90 — 58

Write down 4 even numbers

Tasmin wants to buy a drink.

She has 75p and needs 15p more to buy
the drink.

How much does the drink cost?

1
Shade 3 of this shape
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Name: Primary 5-a-day Bronze
3rd July
305 — 20 7 X7

Sharon has a bag of 32 biscuits.
1 L
Z of the biscuits are chocolate.

How many biscuits are chocolate?

Jessica asked her friends their favourite
colour.

How many picked blue?

How many friends did she ask altogether?
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name: AADSWRM

Primary 5-a-day

Bronze {

29th June

100 — 21

T.,_C\

IX12 =4 %

Yx1d * 3¢
36:4 =9

Ted scores 75 points
Claire scores 48 points

How many more points does Ted score

than Claire?
L+

=“30’2- G
£ ©

Distance walked to school

Who walks the shortest distance to

600 : school?
w1 Ava.
number 400 I j_’
of ool 1 [N N |
metres 300 [— B e
EE:E
200 @ —— j e
e i : L
ol 1 [ I 1 | Which two children walk the same
h H » _1 | distance to school?
| 3 { | | .
0 ’ ‘ — A
Noah Zoe Mason Archie Ava m
Noah arel
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Name: A‘\SUJQH

Primary 5-a-day

Bronze {

30th June

40 + 100 + 30

\Fo

72%3

A6

Some children share 32 cherries.
Each child gets 4 cherries.

How many children are there?

B

32:4:=8

Write these numbers in order, from
smallest to largest

Goo [801] 804 (810

801 ] 810 1 LSOO} L804 J smallest largest
Katy has four coins.
She has £5 in total.
What coins could she have?
I | [# | |Sop | [Sop

(—t»f‘ e,mmp}e)
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Name: AML Primary 5-a-day

Bronze f

1st July

w L
Sow

u
D

59

How many days are there in July?

3

St Nomis oy W E esse RS

Write in the missing numbers

Chloe weighs 28kg
David weighs 26kg more than Chloe

Draw an arrow on the scale to show how
much David weighs

2946® H

20

40 50

kilograms

54
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Name: M

Primary 5-a-day

Bronze £ &%

2nd July

34 -2

al%‘%"

¥

90 — 58

EYS

Write down 4 even numbers

2.4,6,8, (lo,12,4...

Tasmin wants to buy a drink.

She has 75p and needs 15p more to buy
the drink.

How much does the drink cost?

QOP

|-+l
WU

~D

5
Shade g of this shape

@wu. any ¥ 9\}“"5)
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Name: M Primary 5-a-day Bronze £

3rd July

305 — 20 i

2%65 49

Sharon has a bag of 32 biscuits.

i <4:= 3
Z of the biscuits are chocolate. 31 q

How many biscuits are chocolate?

3

Jessica asked her friends their favourite How many picked blue?
colour.

Key Q = 2 children L‘-
Blue O Q

Green O Q Q How many friends did she ask altogether?
wk | O 4+b+3+4

\J

el Rl
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